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INSTRUCTIONS TO CANDIDATES

Read the following instructions carefully
before you open the question booklet.

1. Answers are to be given on a separate
answer sheet (OMR sheet).

2. Please write your Roll Number as allotted to
you in the admission card very clearly
on the test-booklet and darken the
appropriate circles on the answer sheet as
per instructions given.

3. There are 50 questions in this test. All are
compulsory.

4. Please follow the instructions given on the
answer sheet for marking the answers.

5. If you do not know the answer to any
question, do not waste time on it and pass
on to the next one. Time permitting, you can
come back to the questions, which you have
left in the first instance and attempt them.

6. Since the time allotted for this question
paper is very limited, you should make the
best use of it by not spending too much time
on any one question.

7. Rough work can be done on the given
Blank Pages at the back of the booklet
but not on the answer sheet/loose paper.

8. Every correct answer will be awarded one
mark. There will be no negative marking.

9. Please return the Answer sheet (OMR)
only to the invigilator after the test.

10. Hindi version of the question paper will be
considered as final in case of any dispute
arising out of variation in translated version.

PLEASE TURN OVER THE PAGE AND START
YOUR WORK.

Max. Marks : 50
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HAifeger ST Tier
MENTAL ABILITY TEST
THUTH-UA § HA 50 W E | Wedkeh W9 U 3Tk dr ¢ |
THERE ARE 50 QUESTIONS IN THIS PAPER.
EACH QUESTION CARRIES ONE MARK,

T (1-4) / Questions(1-4)

o ;T 19 4TF YIF H T AER-F00 & T 7, Foed 3 ) e € Y u =
fag (?) G S T € | 9% UE S9 FUN & 9 f5¥ T 9R fawmedi 4 W ww ¥ | 9l fawew I
FISQ | |

Direction : In each of the questions 1 to 4 some of the letters are missing in the
given series with one term missing shown by question mark ( ? ), This term is one of
the alternatives among the four groups of letters given under it. Find the right
alternative.

1. BEG, DGI, FIK, HKM, { ?)

(1) JMO 2) KMO

(3) JML (4) JNP,
2. KEM, IDL, GCK, ( ?), CAI

(1) ECJ ' ' (2) EBK

(3} FBJ (4) EBJ.
3. ca(?)cab(?)ab(?)(?)bc(?)

(1) bccaa (2) accab

(3) bacaa (4) abaca.
4. JCME, LDOG, NEQT, ( ?)

(1) PFSJ (2) PESI

(3) PESK (4) PFSK.

U1 (5 - 8) /Questions (5 -8)

ot : 9e 59 87% Y% | T wew- 4o 31 W= €, T 7w e € N v g
g (?) Ao T ® | 9% Ug S9 90 & e 5 T 9R fowedt § 9 s ¥ 1 6t fawew 3@
Hifee |

Direction : In each of the questions 5 to 8 some of the numbers are missing in
the given series with one term missing shown by question mark ( ? ). This term is one
of the alternatives among the four numbers given under it. Find the right alternative.

5. 5,10, 17, 26, 37, 50, ( ?)
(13 70 (2) 66
3) 65 4] 64,
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6. 6, 2b; 62, 123; (7 ), 341

(1) 216 2 214

3 215 4 217.
7. 5,3,10,8,17,15,(?), 24

(1) 26 2 27

3 29 4) 36.
8. 2,6, 12,20, 30, (?)

(1) 40 (2) 42

3) 44 (4) 46.

g9 (9~ 11) /Questions ( 9 - 11)

frder : = v g H 1 e iR | Freed 18R 1feu MU | efaeR QU T sl Wi
T AHAT €, 9ol €1 d Haga a2 o fie wedia 8id § | =6l @l 98 9 9% 4 Hitee foF FE-m
frerd QU U FeMl &1 o 9 ®9 § SATH FaT € |

Direction : In each of the questions below are given two statements and two
conclusions numbered I and II. You have to take the given two statements to be true
even if they seem to be at variance from commonly known facts. Read the

conclusions and then decide which of the given conclusions logically follows from the
two given statements.

9. Y (@) : gﬂﬁﬁlﬁﬁmﬁ%l

@ : Feifwd=E

Foreened @ : uwifeFEEE )
m : T8 feae § )

(1) Faa fr=ps 1o §

2) how frepd 1T R

(3) < feed 1t 1E #

(4) Ffrrd 13T E) s o &

Statements (i} Some books are pencils.
@ Some pencils are pens.
Conclusions (I} All books are pens.
(m Some pens are books.

(1) Only conclusion I is true
(2) Only conclusion II is true
(3) Conclusions ] and II both are true

(4} Neither conclusion I nor cenclusion II are true.
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10. YA : O : POt EkmE
@ : Toftm ofa S ofEr e w@ E
foreem @ : st SR oiEr fafaa §
(N : $© Ao el THER 768 S § |
(1) o ferd 19 %
(2) ol fremd IHA ©
(3) @i frewe [ &R 1w €
(4) - frepd 1afi & freed mE

Statements (i) Some men are educated.

G Educated persons prefer small families.
Conclusions (I} All small families are educated.

an Some men prefer small families.

(1) Only conclusion I is true

(2) Only conclusion II is true

(3) Conclusions I and II both are true

(4) Neither conclusion I nor conclusion II are true.

11. & M : FoFEiTRHE

@ : SRTRELE

frreaet M : P ghiEa
m : P EAEEE ¥

(1) o s 19

(2) e Frowd 11w §

(3) I Frepd 130 11w ¥

(4) A0 frrd 1o S Frewd nEA

Statements (i) Some hens are cows.
ii) All cows are horses.

Conclusions (I} : Some horses are hens.
(I1) | : Soime hens are horses.

{1) iny conclusion I is true
(2) Only conclusion Il is true
(3) Conclusions I and II both are true

(4) Neither conclusion I nor conclusion II are true.
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W (12 - 13 ) /Questions ( 12 - 13 )

PRI 129 13 R R Rawiad wfaddTag=a U, AT BE =
FHY: TH FaH! | @1 ara fgarfed, fafva & fasenl &1 den =1 ySitia #wa € 1 Fie @
FA TAEET 300%F |

Direction : Questions 12 to 13 are based on the following diagram. In this
diagram there are three sets U, A and B, which represent the married persons,

educated people and teachers respectively live in a colony. The total population of the
colony is 300.

U

260 136

12. i o stfanfea st =t den ¥
Number of unmarried persons in the colony is
(1) 40 2 112
(3) 124 (4) 125.
13. e § fofs & den < faes 71 g R
Number of educated people who is not teacher is
(1) 120 @2 122
3) 124 4} 125. |
14. =9 @ $59-91 39 e i, Sl o Seed o "El w9 ° weldie s ¥ ?

Which of the following Venn diagrams correctly represents cows, horses and

animals ?
- QDO
(3} (4)

15. = & § F9-w 37 o gy, agds i agys &1 98] T § Teiia wa § ?

Which of the following Venn diagrams correctly represents rectangle,
quadrilateral and polygon ?

- (DO
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B (16 - 19) /Questions { 16 - 19)
o : 79 169 199F # W fashew frel gfe @ 9um € wiwg U fased o910 s 7 )
e fasred 97 #1921 I fafae |

Direction : In questions 16 to 19 three alternatives are alike in a certain way but
the rest one is different. Find out the odd one and write correct answer.

16. (1) AEIF (2) CGKH
3) EILJ (4) GKOL.

17. (1) XcJp (2) YEKQ
(3) ZGLT (4) AHMV.

18. (1) 150 2 165
(3) 200 | 4 250.

19. (1) e / Coal (2) UWE / Graphite
(3) ¥ / Diamond @) AT / Gold.

9T ( 20 - 21 ) /Questions ( 20 - 21)
ot : T U@ & fafi Sl W 19 69 F1 GEA oifra ¥

Direction : Numbers from 1 to 6 are placed on different faces of the disc.

e 3% faudd g | FH-6 e g ?
The number on opposite side of the face having the number 3 will be
(1) 5 2) 4

8

e 3 % farda gw W wH-T demn g ?

The number on opposite side of the face having the number 3 will be
1 1 2 2

3) 4 [4) 5.
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T9T (22 - 23 ) /Questions ( 22 - 23)
o : g orgpfa & fofim o=t Y feemet o om R snafm o & SR ST

Direction : Give answer on the basis of given figure that the different faces are
folded in the form of cube.

6

22. 2 3 4 5

n
e 4% fawia = | FR-4 g gt ?

The number on opposite side of the face having the number 4 will be

1) 1 (2) 2
3 3 4) 4.
F D
£
25 B
A E

e F o faudid 758 W &I W &R/ 0 ?

The word on opposite side of the face having the word F will be

(1) B 2) C

3 D 4} E.
Ugt ( 24 - 27 ) /Questions ( 24 - 27 )

fador : e 1T Sfeafian 98 a1a/ § fo7@ =il 1 Wishfas 9T o SR W W A
3ttt S guiaen # feren W R 1 39 59 Aichfask Wi o SUNiERl i wE=Y 3R TH YR
T YAF Y B TG Weg % Wichiaeh 9T & Te] fared =1 @ =S, |

Direction : Words in capital letters in Column I are written in English small
letters according to a code language in Column II. Decode the language and find out
the correct alternative for the given word in each question.

1 /Column 1 W II /Column 11
ONE cdy
TWO sgd
THREE 1sqyy
FOUR dztg
FIVE zmfy
SIX rmh
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25.

26.

27.

(9) MAT-1

NET

(1) dys (2) cys
(3) tes 4) csd.
FOX

(1) ydh (2) dhs
(3) zdh 4) zgl
HER

(1) Ige @ lyg
3) lgs (4) glc.
SHE

(1) rly (2) recy
(3) rsy (4) yet.

Y91 (28 - 30 ) /Questions ( 28 ~ 30)

frder : Prfeiad welis 999 ¥ TF FoA qeoveg © Fend 19 nikg e ¥ |

Directions : In each of the following questions a statement is given followed by

two conclusions I and II.

28, YT : ;. virwa sitfufiEl =afte =1 gigam awrt § )

rreapet M WeEgemEEa €

(p : A g o A HEm T |
(1) %ew e 19 @
@) o freps 1T ®
@) <o frerd 19 MW €
(@) = Frewd 1 e A € fed T R

Statement : Adversity makes a man wise,
Conclusions (I) The poor are wise.
(an Man learns from bitter experience.

(1) Omnly conclusion I is true
(2) Only conclusion II is true
(3) Both conclusions I and II are true

{4) Neither conclusion I nor conclusion 11 are true.
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29. YA : © uPY HiEH Afedl F A e e |
e (M : O%ca % fou SifEm S sEvas ®
(I :  HEL ST g ¥ UEel Y 9N TRA ¥ |
(1) o frerd 1o
(2) et frerd 1ET R
(3) = fr=wdd 19 nEA €
@ A@Trepd 18R A S feed nEm d

Statement : Fortune favours the brave.
Conclusions (I} : Risk is necessary for success.
{an Cowards die many times before their death.

(1) Only conclusion I is true

(2) Only conclusion II is frue

{(3) Both conclusions I and II are true

(4) Neither conclusion I nor conclusion II are true.
30. wmUA: . AT 9 WA o o e §

Frend @ : 9 s At gue v & e 9w ¥

an : W H 90 TEE T |

(1) Faa freed 19 ®

(2) “had Ty 11T

(3) < frend 19 mEH ¥

@ =@ fr=rd 1R s nET ¥ |

Statement : Morning walks are good for health.
Conclusions (I) : All healthy people go for morning walks.
(m Evening walks are harmful.

(1) Only conclusion I is true

(2) Only conclusion II is true

(3) Both conclusions I and II are true

(4) Neither conclusion I nor conclusion II are true.

31, Wy, Hed wI @ e anvam, Oed F P & | W9 g v o @ aey ¥ 2

Ramesh is father of Mohan and Shyam is son of Mohan. What is the relation
between Ramesh and Shyam ?

(1) T / Son () ¥E / Brother
(3) TR / Grandfather (4) T / Father.
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32. BCHmRfrg C. B TR E I CRBIAFMU=EIT ? /
B is father of C but C is not son of B. What is the relation of C with B ?
(1) &9 / Sister (2) % / Brother
(3) Tt / Daughter (4) ST / Nephew.
33. 4t 23%52=48% W 43%35="2
If 23 % 52 = 48, then 43 % 35 = ?
1) 78 2) 98
@) 96 4) 69.
34. 39fg frafafeaa e = e 9 3 famr oy, @ 7em 3 o aedt 9@ & & &1 9
B

If the following numbers are written in ascending order, the sum of the digits of
middle number will be

810, 912, 910, 809, 781, 673, 573
1y 9 @ 12
@B 17 4 13.

35. RN AR F JEAMFEu A R F 3EE I R 6 AfFE dlm A H 7
T ?

How many 3s are there in the following figure series which are just preceded by
6 but not immediately followed by 7 ?

323743563746389635183724286395

m 1 2 2
@ 3 @) 4.

36. fadt 3oiwm e o fmafafas 9l o ® SF- W T T=) )@ A8 ?

Which name will come at 3rd place in a telephone directory from the following
given names ?

(1) AMIT (2) AMINA

(3) ALOK (4) ABHIMAN.
37. ARG 1 TR &I Uqar €, @ 1 TR &l HA-9 9% G 2

If 1st October is Sunday, then lst November will be
(1) "HWER / Monday (2) WTRER / Tuesday

(3) Y99 / Wednesday (4) TEAR / Thursday.
38, @4 ¥ U8 *F-9 & WM T © T Helvel ¥HE § ?

Which two months in a year have the same calendar ?
(1) <1, = / June, October

(3) 37, Y / April, July

NTSE(I}/14 — MAT
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39. afg g o =1 ygen a7 Hwer 7, @ ¥ 1 snfedt fod - g 2
If the first day of a leap year is Monday, then what day will be on the last day of

that year ?
(1) ¥9aR / Wednesday (2) HTEER / Tuesday
(3) TEAR / Thursday (4) UeaR / Sunday.

40, =fe oA 14 fam=r, 2013 % vHER B, @ 22 RE=R, 2014 I FH-9 o €W ?
If 14th September, 2013 is Saturday, then what day will be 22nd December, 2014 ?
(1) @R / Sunday (2) ¥WWER / Monday
(3) TIEER / Tuesday (4) 9" / Wednesday.
Ty (41 - 45 ) /Questions ( 41 -~ 45 )
v 419 a5 s daR e f@ W € 1590 9w o e el @ a9 e
T ¥ |39 fas % 9 Wi |

Direction : In questions 41 to 45 there are four figures given. One of these does
not correlate with the rest of the figures. Find out that figure.

Ol ola
41. .

(1) 2) (3) (4)

) —_
D19V | &

S

(1) @) (3) (@)

X O o = X1

i = X1l e
43. o] X11 =3 o

(1) @) (3) ()

K + | A R|$ A | W %
= ] ~| O <] | = w | T E

(1) 2) (3) (4)
45. % X

(1) @) (3) @)
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U9 (46 - 50 ) /Questions ( 46 - 50)

Tyt : weT 46 9 50 ¥ o= % < g ©, FoH tw g wmen-fom 9 g & sw-fem
FEd € | G- U 9 H U & dI¢ Th @ gL B | ekl S<-Torsll H § T U fod o
IAE H 2, S gEer-fes § HuEr o Sirer o 9 | 9Et ST @i 9| Sifere |

Direction : In questions 46 to 50 there are two sets of figures. One set contains
problem-figures while the other has answer-figures. There is a sequence according to
which the problem-figures are arranged. You have to select one figure from the set of

answer-figures which can be placed in sequence after the set of problem-figures. Find

out the correct figure.

46, HAEN-TE3 / Problem-Figures IW-T3 / Answer-figures.
(1) (2} (3} (4) (1} (2) (3} (4)

47. HAA-fE7 / Problem-figures TR-97 / Answer-Figures.
N|DO A |8l |A | A

(1) (2) (3) (4) (1) (2) (3) (4)

48. HHE-T93 / Problem-figures SW-T94 / Answer-figures.
T O - O - O SR | g kL L] - f
A A V]|v V|v 7T ¥ #HiAx TIA Tw 2

(1) (2) (3) (4) (1) (2) (3) (4)

49. gg&-fo71 / Problem-figures IR-T=1 / Answer-figures.
+ _0O|P 1T PIl© T P + [P T+ 0|0 T
F’©T T@OO@+ +@P O@TO +P@T +@P

(1) (2) (3) (4) (1) (2) (3) (4)

50. "gE-f93 / Problem-figures IW-fo / Answer-figures.

(1) (2) (3) (4) (1) (2) (3) (4)
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SPACE FOR ROUGH WORK / T% &1 o foTT 57
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SPACE FOR ROUGH WORK / T& &4 o foq svrg
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